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Question Bank  

ECONOMICS 
 

UNIT-IV  
 

dFku&dkj.k (Assertion-Reason) (01 Mark) 
 

 

Answer Options  उƣर ͪवकãप( (for all questions) 
(A) Both A and R are true, and R is the correct explanation of A.  

      A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया है। 
(B) Both A and R are true, but R is not the correct explanation of A. 

       A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं है। 
(C) A is true, but R is false. 

      A सहȣ है, लेͩ कन R गलत है। 
(D) A is false, but R is true. 

               A गलत है, लेͩ कन R सहȣ है।  

 

Assertion- Reason Questions 

1. Assertion (A): In a perfectly competitive market, firms are price takers.  
Reason (R): Each firm in a perfectly competitive market has a significant influence on market 
price. 

 कथन (A): एक पूण[तः ĤǓतèपधȸ बाजार मɅ, फमɏ मूãय èवीकारक होती हɇ। कारण (R): Ĥ×येक 
फम[ का बाजार मूãय पर मह×वपूण[ Ĥभाव पड़ता है। 
2. Assertion (A): A perfectly competitive firm can sell any quantity at the prevailing market 
price.  
Reason (R): The demand curve for a firm in perfect competition is downward sloping. 

  कथन (A): पूण[ ĤǓतèपधȸ फम[ ͩकसी भी माğा मɅ उ×पादन को बाजार मूãय पर बेच सकती है।  
कारण (R): पूण[ ĤǓतèपधा[ मɅ फम[ का मांग वĐ नीचे कȧ ओर ढलान वाला होता है। 
3. Assertion (A): In the short run, a perfectly competitive firm can earn abnormal profits, 
normal profits, or incur losses.  
Reason (R): Free entry and exit ensure that firms earn only normal profits in the long run. 

 कथन (A): अãपकाल मɅ, पूण[ ĤǓतèपधȸ फम[ असाधारण लाभ, सामाÛय लाभ कमा सकती है या 
हाǓन उठा सकती है।  
कारण (R): èवतंğ Ĥवेश और बǑहग[मन दȣघ[काल मɅ केवल सामाÛय लाभ सुǓनिæचत करते हɇ। 
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4. Assertion (A): Market equilibrium occurs when quantity demanded equals quantity 
supplied.  
Reason (R): A price above equilibrium leads to excess demand, causing prices to rise further. 

  कथन (A): जब माँग कȧ माğा पूǓत [ कȧ माğा के बराबर होती है, तब बाजार संतुलन ĤाÜत होता 
है।  
कारण (R): यǑद कȧमत सतंुलन से ऊपर हो, तो अͬधक माँग उ×पÛन होती है िजससे कȧमत और 
बढ़ती है। 
5. Assertion (A): A leftward shift in the supply curve leads to an increase in equilibrium price.  
Reason (R): A decrease in supply, with demand remaining constant, creates a shortage in the 
market. 

 कथन (A): आपूǓत[ वĐ के बाɃ ओर ͨखसकने से संतुलन मूãय बढ़ जाता है।  
कारण (R): यǑद माँग िèथर बनी रहे और आपूǓत [ घट जाए, तो बाजार मɅ वèतुओं कȧ कमी हो 
जाती है। 
6. Assertion (A): Price ceiling leads to shortages in the market.  
Reason (R): Government-imposed price ceilings ensure that commodities are available at higher 
prices. 

  कथन (A): अͬधकतम मूãय सीमा (Price Ceiling) से बाजार मɅ वèतुओं कȧ कमी हो जाती है। 
 कारण (R): सरकार ɮवारा लगाए गए अͬधकतम मूãय सीमा से वèतुएँ ऊँची कȧमत पर उपलÞध 
होती हɇ। 
7. Assertion (A): Price floors can lead to surplus production in the market. 
 Reason (R): A price floor is set below the equilibrium price to protect consumers. 

 कथन (A): Ûयूनतम मूãय सीमा (Price Floor) से बाजार मɅ अͬधशषे उ×पादन हो सकता है।  
कारण (R): उपभोÈताओं कȧ सुर¢ा के ͧलए इसे संतुलन मूãय से नीचे Ǔनधा[ǐरत ͩकया जाता है। 
8. Assertion (A): An increase in demand, with supply remaining constant, leads to a rise in 
equilibrium price. 
 Reason (R): A rise in demand shifts the demand curve leftward, reducing market price. 

  कथन (A): यǑद माँग बढ़ती है और आपूǓत [ िèथर रहती है, तो सतंुलन मूãय बढ़ जाता है। 
कारण (R): माँग बढ़ने स ेमाँग वĐ बाɃ ओर ͧशÝट होता है, िजसस ेबाजार मूãय घट जाता है। 
9. Assertion (A): In a perfectly competitive market, an individual firm’s marginal revenue 
(MR) is equal to the price of the product.  
Reason (R): A perfectly competitive firm can influence market price by changing its output 
level. 

 कथन (A): पूण[ ĤǓतèपधा[ मɅ, ͩकसी फम[ का सीमांत संĤािÜत (MR) उ×पाद के मूãय के बराबर 
होता है।  
कारण (R): एक पूण[ ĤǓतèपधȸ फम[ उ×पादन èतर बदलकर बाजार मूãय को Ĥभाͪवत कर 
सकती है। 
10. Assertion (A): In the short run, a firm will continue production even if it incurs losses, 
provided it covers its variable costs. Reason (R): If a firm is unable to cover its total costs in the 
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short run, it must shut down immediately. 

 कथन (A): अãपकाल मɅ, यǑद एक फम[ पǐरवत[नीय लागत को कवर कर पाती है, तो वह हाǓन 
के बावजूद उ×पादन जारȣ रखेगी। कारण (R): यǑद एक फम[ अãपकाल मɅ अपनी कुल लागत नहȣं 
कवर कर पाती, तो उसे तुरंत बंद हो जाना चाǑहए। 
11. Assertion (A): Price floor (minimum support price) may result in surplus agricultural 
production.  
Reason (R): The government sets price floors below the equilibrium price to help consumers. 

कथन  (A): Ûयूनतम मूãय सीमा (Price Floor) से कृͪष उ×पादɉ कȧ अͬधकता (Surplus) उ×पÛन 
हो सकती है।  
कारण (R): सरकार उपभोÈताओं कȧ सहायता के ͧलए इसे संतुलन मूãय से कम Ǔनधा[ǐरत करती 
है। 
12. Assertion (A): A perfectly competitive firm earns only normal profits in the long run. 
Reason (R): In the short run, all firms incur losses. 

कथन  (A): पूण[ ĤǓतèपधȸ फम[ दȣघ[काल मɅ केवल सामाÛय लाभ अिज[त कर सकती है। कारण 
(R): अãपकाल मɅ, सभी फमɏ हाǓन उठाती हɇ। 
13. Assertion (A): Price mechanism ensures efficient allocation of resources in a market 
economy. 
 Reason (R): Government intervention increases the possibility of efficient resource allocation. 

कथन (A): मूãय Ĥणालȣ (Price Mechanism) बाजार मɅ संसाधनɉ के उͬचत आवंटन को सुǓनिæचत 
करता है। कारण (R): सरकारȣ हèत¢ेप से कुशल संसाधन आवंटन कȧ संभावना बढ़ जाती है। 
14. Assertion (A): Equilibrium price and quantity in a market are determined by the interaction 
of demand and supply. 
 Reason (R): Any change in demand or supply does not affect market equilibrium. 

  कथन (A): ͩकसी भी बाजार मɅ संतुलन मूãय और संतुलन माğा माँग और पूǓत [ के अतंःͩĐया 
से Ǔनधा[ǐरत होती है।  
कारण (R): माँग या पूǓत [ मɅ कोई भी पǐरवत[न बाजार संतुलन को Ĥभाͪवत नहȣं करता है। 
15. Assertion (A): A firm in a perfectly competitive market earns maximum profits where 
marginal cost equals marginal revenue.  
Reason (R): Profit maximization occurs when marginal revenue is greater than marginal cost. 

  (A): पूण[ ĤǓतèपधा[ मɅ, फम[ उस ǒबदं ुपर अͬधकतम लाभ अिज[त करती है जहाँ सीमांत लागत 
सीमांत संĤािÜत के बराबर होती है।  
कारण (R): जब सीमांत संĤािÜत सीमांत लागत से अͬधक होता है, तब लाभ अͬधकतम होता है। 
 

MCQ 

1. Which of the following is NOT a characteristic of a perfectly competitive market? 

Ǔनàनͧलͨखत मɅ से कौन-सा पूण[ ĤǓतèपधा[ बाजार कȧ ͪवशषेता नहȣं है? 



4 | P a g e  
 

a) Large number of buyers and sellers / खरȣदारɉ और ͪवĐेताओं कȧ बड़ी संÉया 
b) Free entry and exit / मुÈत Ĥͪविçट और बǑहग[मन 

c) Differentiated products / ͪवभेǑदत उ×पाद 

d) Perfect knowledge / पूण[ जानकारȣ 
2. Under perfect competition, in the short run, a firm can earn 

पूण[ ĤǓतèपधा[ के अतंग[त, अãपकाल मɅ एक फम[ अिज[त कर सकती है: 
a) Only normal profit / केवल सामाÛय लाभ 

b) Only supernormal profit / केवल अलाभकारȣ लाभ 

c) Only losses / केवल हाǓन 

d) Normal profit, supernormal profit, or losses / सामाÛय लाभ, अलाभकारȣ लाभ या हाǓन 

3. In perfect competition, why is the demand curve for a firm perfectly elastic? 

पूण[ ĤǓतèपधा[ मɅ, फम[ कȧ माँग वĐ पूण[तः लोचशील Èयɉ होती है? 

a) Due to a large number of buyers / खरȣददारɉ कȧ बड़ी संÉया के कारण 

b) Due to price discrimination / मूãय भेदभाव के कारण 

c) Because firms are price takers / Èयɉͩक फमɏ मूãय èवीकारक होती हɇ 
d) Due to government regulations / सरकारȣ ͪवǓनयमɉ के कारण 

4. If the market price is set above the equilibrium price in a perfectly competitive 
market, what will happen? 

यǑद पूण[ ĤǓतèपधा[ बाजार मɅ बाजार मूãय संतुलन मूãय से अͬधक हो जाता है, तो Èया 
होगा? 

a) Excess demand will arise / अͬधमाँग उ×पÛन होगी 
b) Excess supply will arise / अͬधपूǓत [ उ×पÛन होगी 
c) Market will reach a new equilibrium / बाजार एक नए संतुलन पर पहँुच जाएगा 
d) Price will remain constant / मूãय अपǐरवǓत[त रहेगा 

5. In the short run, a perfectly competitive firm will continue to operate at a loss if 

अãपकाल मɅ, एक पूण[ ĤǓतèपधȸ फम[ हाǓन मɅ संचालन जारȣ रखेगी यǑद: 
a) Price > Average Fixed Cost / मूãय > औसत èथायी लागत 

b) Price > Average Total Cost / मूãय > औसत कुल लागत 

c) Price > Average Variable Cost / मूãय > औसत पǐरवत[नशील लागत 

d) Price < Average Variable Cost / मूãय < औसत पǐरवत[नशील लागत 

6. If both demand and supply increase simultaneously, what will be the effect on 
equilibrium price? 

यǑद माँग और आपूǓत [ दोनɉ एक साथ बढ़ती हɇ, तो सतंुलन मूãय पर Èया Ĥभाव पड़गेा? 

a) Always increases / हमशेा बढ़ेगा 
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b) Always decreases / हमेशा घटेगा 
c) May increase, decrease, or remain constant / बढ़ सकता है, घट सकता है या िèथर रह 
सकता है 

d) Remains constant / िèथर रहेगा 
7. When supply increases and demand remains constant, the equilibrium price will 

जब आपूǓत [ बढ़ती है और माँग िèथर रहती है, तो संतुलन मूãय: 
a) Increase / बढ़ जाएगा 
b) Decrease / घट जाएगा 
c) Remain constant / िèथर रहेगा 
d) First increase then decrease / पहले बढ़ेगा ͩफर घटेगा 

8. An increase in input prices will lead to 

आगत कȧमतɉ मɅ वɮृͬध से Èया होगा? 

a) Increase in supply / आपूǓत[ मɅ वɮृͬध 

b) Decrease in supply / आपूǓत[ मɅ कमी 
c) No effect on supply / आपूǓत[ पर कोई Ĥभाव नहȣं 
d) Increase in quantity supplied / आपूǓत[ कȧ माğा मɅ वɮृͬध 

9. If the government imposes a tax on the production of a good, what happens to its 
supply curve? 

यǑद सरकार ͩकसी वèतु के उ×पादन पर कर लगाती है, तो उसकȧ आपूǓत [ वĐ पर Èया 
Ĥभाव पड़गेा? 

a) Shifts rightward / दाएँ èथानांतǐरत होगी 
b) Shifts leftward / बाएँ èथानांतǐरत होगी 
c) Becomes steeper / अͬधक तीĭ हो जाएगी 
d) No effect / कोई Ĥभाव नहȣं पड़गेा 

10. A sudden increase in the price of a substitute good will result in 

èथानापÛन वèतु के मूãय मɅ अचानक वɮृͬध से Èया होगा? 

a) Demand for the given good will increase / दȣ गई वèतु कȧ माँग बढ़ जाएगी 
b) Demand for the given good will decrease / दȣ गई वèतु कȧ माँग घट जाएगी 
c) Supply for the given good will increase / दȣ गई वèतु कȧ आपूǓत [ बढ़ जाएगी 
d) No effect on the demand / माँग पर कोई Ĥभाव नहȣं पड़गेा 

11. A price ceiling is effective when it is set 

अͬधकतम मूãय सीमा Ĥभावी होती है जब इसे Ǔनधा[ǐरत ͩकया जाता है: 
a) Above equilibrium price / संतुलन मूãय से ऊपर 

b) Below equilibrium price / संतुलन मूãय से नीच े
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c) At equilibrium price / संतुलन मूãय पर 

d) At any price level / ͩकसी भी मूãय èतर पर 

12. What is the main consequence of an effective price ceiling? 

Ĥभावी अͬधकतम मूãय सीमा का मुÉय पǐरणाम Èया होता है? 

a) Surplus in the market / बाजार मɅ अͬधशषे 

b) Shortage in the market / बाजार मɅ कमी 
c) No impact on demand and supply / माँग और आपूǓत [ पर कोई Ĥभाव नहȣं 
d) Decrease in demand only / केवल माँग मɅ कमी 

13. Price floor is usually set to 

Ûयूनतम मूãय सीमा आमतौर पर ͩकसͧलए Ǔनधा[ǐरत कȧ जाती है? 

a) Protect consumers / उपभोÈताओं संर¢ण के ͧलए 

b) Protect producers / उ×पादकɉ संर¢ण के ͧलए 

c) Reduce government intervention / सरकारȣ हèत¢ेप को कम करने के ͧलए 

d) Decrease production / उ×पादन को कम करने के ͧलए 

14. What happens when a price floor is set above equilibrium price? 

जब Ûयूनतम मूãय सीमा संतुलन मूãय से ऊपर Ǔनधा[ǐरत कȧ जाती है, तो Èया होता है? 

a) Excess demand / अͬधशषे माँग 

b) Excess supply / अͬधशषे आपǓूत[ 
c) Market clears / बाजार संतुͧलत हो जाता है 

d) No impact / कोई Ĥभाव नहȣं पड़ता 
15. Which of the following is an example of price floor? 

Ǔनàनͧलͨखत मɅ से कौन-सा Ûयूनतम मूãय सीमा का उदाहरण है? 

a) Rent control / ͩकराया Ǔनयंğण 

b) Minimum wage / Ûयूनतम मजदरूȣ 
c) Maximum retail price / अͬधकतम खदुरा मूãय 

d) Free market pricing / मुÈत बाजार मूãय Ǔनधा[रण 

16. A price ceiling on essential commodities may lead to 

आवæयक वèतुओ ंपर मãूय अͬधकतम सीमा स ेÈया हो सकता है? 

a) Black marketing / काला बाज़ारȣ 
b) Increase in supply / आपूǓत[ मɅ वɮृͬध 

c) Surplus stock / अͬधशेष èटॉक 

d) Higher production / अͬधक उ×पादन 

17. A government-imposed price floor benefits which group the most? 

सरकार ɮवारा लागू Ûयूनतम मूãय सीमा का सबसे अͬधक लाभ ͩकसे होता है? 
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a) Consumers / उपभोÈताओं को 
b) Producers / उ×पादकɉ को 
c) Government / सरकार को 
d) Middlemen / ǒबचौͧलयɉ को 

Definite Answer Questions-1 Mark 

1. What is the shape of the demand curve in perfect competition? 

पूण[ ĤǓतèपधा[ मɅ माँग वĐ का आकार कैसा होता है? 

2. Which market structure has a large number of buyers and sellers? 

ͩकस बाजार संरचना मɅ बड़ी संÉया मɅ खरȣदार और ͪवĐेता होते हɇ? 

3. What happens to the price when supply increases, assuming demand remains 
constant? 

जब आपूǓत [ बढ़ती है और माँग िèथर रहती है, तो कȧमत पर Èया Ĥभाव पड़ता है? 

4. What is the term for a market condition where demand equals supply? 

वह बाजार िèथǓत Èया कहलाती है जहाँ मागँ और आपूǓत [ बराबर होती है? 

5. Which cost is equal to price in the long-run equilibrium of a perfectly competitive 
firm? 

पूण[ ĤǓतèपधȸ फम[ के दȣघ[काͧलक संतुलन मɅ कौन सी लागत कȧमत के बराबर होती है? 

6. What is the profit of a firm in the long run under perfect competition? 

पूण[ ĤǓतèपधा[ मɅ दȣघ[काल मɅ फम[ का लाभ ͩकतना होता है? 

7. What do we call a price set below the equilibrium level by the government? 

सरकार ɮवारा संतुलन èतर से नीच ेǓनधा[ǐरत कȧमत को Èया कहते हɇ? 

8. What is the minimum legal price set by the government called? 

सरकार ɮवारा Ǔनधा[ǐरत Ûयूनतम कानूनी मूãय को Èया कहते हɇ? 

9. Which market intervention leads to a shortage of goods? 

कौन सा बाजार हèत¢ेप वèतुओं कȧ कमी पैदा करता है? 

10. What is the economic term for surplus caused by a price floor? 

Ûयूनतम मूãय सीमा के कारण उ×पÛन अͬधशषे को Èया कहते हɇ? 

11. What is the effect on demand when the price of a substitute good increases? 

जब ĤǓतèथापन वèतु कȧ कȧमत बढ़ती है, तो मागँ पर Èया Ĥभाव पड़ता है? 

12. Which government policy results in black marketing? 

ͩकस सरकारȣ नीǓत के कारण कालाबाजारȣ होती है? 

13. Which economic term describes a situation where buyers are willing but unable to 
buy goods? 

वह कौन सा आͬथ[क शÞद है जो उस िèथǓत को दशा[ता है जहाँ खरȣददार खरȣदने के 
इÍछुक होते हɇ लेͩकन स¢म नहȣं होते? 
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14. Which factor does not affect the market equilibrium price in perfect competition? 

पूण[ ĤǓतèपधा[ मɅ कौन सा कारक बाजार सतंुलन मूãय को Ĥभाͪवत नहȣं करता है? 

15. What do we call a situation where firms can freely enter and exit the market? 

वह िèथǓत Èया कहलाती है िजसमɅ फमɏ èवतंğ Ǿप से बाजार मɅ Ĥवेश और बǑहग[मन 
कर सकती हɇ? 

16. Which price intervention benefits consumers more? 

कौन सा मूãय हèत¢ेप उपभोÈताओं को अͬधक लाभ पहँुचाता है? 

17. Which economic term describes excess demand in the market? 

बाजार मɅ अǓतǐरÈत मागँ को ͩकस आͬथ[क शÞद से जाना जाता है? 

18. What happens to equilibrium quantity when both demand and supply increase 
simultaneously? 

जब माँग और आपूǓत [ दोनɉ समान अनुपात से बढ़ते हɇ तो सतंुलन माğा पर Èया Ĥभाव 
पड़ता है? 

19. Which type of goods generally have price ceilings? 

आमतौर पर ͩकस Ĥकार कȧ वèतुओं पर अͬधकतम मूãय सीमा लगाई जाती है? 

20. Which economic term describes government-imposed maximum price? 

सरकार ɮवारा लागू अͬधकतम मूãय को ͩकस आͬथ[क शÞद से जाना जाता है? 

 

2 Marks Questions 

1. How does the existence of a large number of buyers and sellers ensure price-
taking behavior? 

बड़ी संÉया मɅ खरȣददारɉ और ͪवĐेताओं कȧ उपिèथǓत मãूय-Ēहण åयवहार को कैसे 
सुǓनिæचत करती है? 

2. Why is the demand curve perfectly elastic in some market structures? 

कुछ बाजार संरचनाओं मɅ मांग वĐ पूण[तः लचीला Èयɉ होता है? 

3. Why do firms earn only normal profit in the long run under certain market 
conditions? 

कुछ बाजार पǐरिèथǓतयɉ मɅ फमɏ दȣघ[काल मɅ केवल सामाÛय लाभ हȣ Èयɉ अिज[त 
करती हɇ? 

4. Explain the effect of an increase in demand on equilibrium price and quantity. 

मांग बढ़ने स ेसंतुलन मूãय और संतुलन माğा पर Èया Ĥभाव पड़गेा? 

5. What will happen to the equilibrium price and quantity if supply decreases 
while demand remains constant? 

यǑद मांग िèथर हो और आपूǓत [ घट जाए तो संतलुन मूãय और संतुलन माğा पर 
Èया Ĥभाव पड़गेा? 
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6. Some firms are called price takers. Justify with reason. 

कुछ फमɟ को मूãय-èवीकारक कहा जाता है। तक[  सǑहत èपçट करɅ। 
7. How does the entry and exit of firms ensure zero abnormal profit in the long 

run? 

फमɟ का Ĥवेश और बǑहग[मन दȣघ[काल मɅ असाधारण लाभ को शूÛय कैसे बना देता 
है? 

8. Why do some market structures have a perfectly elastic average revenue curve? 

कुछ बाजार संरचनाओं मɅ औसत आय वĐ पूण[तः लचीला Èयɉ होता है? 

9. What happens to the equilibrium quantity when both demand and supply 
increase simultaneously? 

जब मांग और आपूǓत [ दोनɉ समान अनुपात से बढ़ते हɇ तो सतंुलन माğा पर Èया 
Ĥभाव पड़ता है? 

10. How does an increase in production costs affect supply and equilibrium? 

उ×पादन लागत मɅ वɮृͬध से आपूǓत [ और संतुलन पर Èया Ĥभाव होता है? 

11. What is a price ceiling? Give an example. 

अͬधकतम मूãय सीमा (Price Ceiling) Èया होती है? उदाहरण दɅ। 
12. How can a price ceiling lead to shortages in the market? 

अͬधकतम मूãय सीमा से बाजार मɅ अभाव (Shortage) कैसे उ×पÛन हो सकता है? 

13. What are the possible consequences of a price ceiling on consumers and 
producers? 

अͬधकतम मूãय सीमा का उपभोÈताओं और उ×पादकɉ पर Èया Ĥभाव पड़ सकता है? 

14. What is a price floor? Give an example. 

Ûयूनतम मूãय सीमा (Price Floor) Èया होता है? उदाहरण दɅ। 
15. How can a price floor lead to surplus in the market? 

Ûयूनतम मूãय सीमा से बाजार मɅ अͬधशषे (Surplus) कैसे उ×पÛन हो सकता है? 

16. What are the possible consequences of a price floor on consumers and 
producers? 

Ûयूनतम मूãय सीमा का उपभोÈताओं और उ×पादकɉ पर Èया Ĥभाव पड़ सकता है? 

17. Why does government intervention sometimes lead to black marketing? 

सरकारȣ हèत¢ेप के कारण कभी-कभी काला बाज़ारȣ Èयɉ हो जाती है? 

18. How does a price floor help farmers, and what problems can it create? 

Ûयूनतम मूãय सीमा ͩकसानɉ कȧ कैसे मदद करता है, और इससे कौन-सी समèयाएँ 
उ×पÛन हो सकती हɇ? 

19. How can subsidies help in reducing the negative impact of price ceilings? 

सिÞसडी अͬधकतम मूãय सीमा के नकारा×मक Ĥभावɉ को कैसे कम कर सकती है? 

20. Why is it important for the government to strike a balance between price 
controls and market forces? 
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सरकार के ͧलए मूãय Ǔनयंğण और बाजार कȧ शिÈतयɉ के बीच संतुलन बनाए रखना 
Èयɉ आवæयक है? 

 

3 Marks Questions 

1. Under a certain market structure, firms act as price takers. Justify this statement 
with logical reasoning. 

एक ͪवशषे बाजार संरचना के अतंग[त, फमɏ मूãय Ǔनधा[रक नहȣं होती हɇ। इस कथन को 
ताͩक[ क तकɟ के साथ उͬचत ठहराएँ। 

2. Can  a perfectly competitive market  exist in the real world? Critically evaluate with 
practical examples. 

Èया वाèतͪवक दǓुनया मɅ पूण[ ĤǓतèपधȸ बाजार संभव है? åयावहाǐरक उदाहरणɉ के साथ 
आलोचना×मक मूãयांकन करɅ। 

3. If a market has a large number of buyers and sellers, then why does an individual 
firm have no influence over price? Explain with reasoning. 

यǑद ͩकसी बाजार मɅ कई Đेता और ͪवĐेता होते हɇ, तो कोई åयिÈतगत फम[ मूãय को 
Ĥभाͪवत Èयɉ नहȣं कर सकती? तक[  सǑहत समझाइए। 

4. How does free entry and exit of firms lead to zero  profit in the long run? Explain. 

फमɟ के èवतंğ Ĥवेश और बǑहग[मन से दȣघ[काल मɅ शूÛय लाभ कैसे ĤाÜत होता है? 

समझाइए। 
5. “The demand curve of a firm is perfectly elastic in perfectly competitive market .” 

Explain with a diagram. 

"पूण[ ĤǓतèपधȸ बाजार मɅ फम[ कȧ माँग वĐ पूण[तः Ĥ×याèथ होती है।" आरेख कȧ 
सहायता से समझाइए। 

6. Explain with a diagram how equilibrium is determined in perfectly competitive 
market in the short run. 

आरेख कȧ सहायता से समझाइए ͩक अãपकाल मɅ पूण[ ĤǓतèपधȸ बाजार मɅ संतुलन कैसे 
Ǔनधा[ǐरत ͩकया जाता है। 

7. If consumer income unexpectedly increases, how will it affect price and perfectly 
competitive market ? Illustrate with a graph. 

यǑद उपभोÈता कȧ आय अĤ×याͧशत Ǿप से बढ़ जाए, तो पूण[ ĤǓतèपधȸ बाजार मɅ मूãय 
और माğा पर Èया Ĥभाव पड़गेा? Ēाफ कȧ सहायता से समझाइए। 

8. A sudden decrease in production costs leads to an increase in supply. Explain how it 
affects equilibrium. 
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उ×पादन लागत मɅ अचानक कमी स ेआपूǓत [ बढ़ जाती है। यह संतुलन को कैसे Ĥभाͪवत 
करती है? समझाइए। 

9. How does government intervention in the form of subsidies impact equilibrium in 
perfectly competitive market? Use examples to explain. 

सरकार ɮवारा दȣ जाने वालȣ सिÞसडी पूण[ ĤǓतèपधȸ बाजार मɅ संतुलन को कैसे Ĥभाͪवत 
करती है? उदाहरणɉ सǑहत समझाइए। 

10. A new technology increases productivity in an industry. Analyze its effects on price 
and quantity. 

नई तकनीक से ͩकसी उɮयोग मɅ उ×पादकता बढ़ जाती है। इसका मूãय और माğा पर 
Èया Ĥभाव पड़गेा? ͪवæलेषण करɅ। 

11. What happens when the government imposes a maximum price limit below the 
equilibrium price? Analyze with an example. 

जब सरकार संतुलन मूãय से कम अͬधकतम मूãय सीमा Ǔनधा[ǐरत करती है, तो Èया 
Ĥभाव पड़ता है? एक उदाहरण के साथ ͪवæलेषण करɅ। 

12. Rent control is a government policy that limits maximum rent. Discuss its impact on 
landlords and tenants. 

ͩकराया Ǔनयंğण एक सरकारȣ नीǓत है जो अͬधकतम ͩकराए को सीͧमत करती है। इसका 
मकान माͧलकɉ और ͩकरायेदारɉ पर Èया Ĥभाव पड़ता है? चचा[ करɅ। 

13. Explain the economic consequences of price limits using the concept of shortage and 
black markets. 

कमी और काले बाजार कȧ अवधारणाओं का उपयोग करके मूãय सीमा के आͬथ[क 
पǐरणामɉ कȧ åयाÉया करɅ। 

14. How does imposing a minimum price above equilibrium affect the market? 
Illustrate with a diagram. 

यǑद सरकार संतुलन मूãय से अͬधक Ûयूनतम मूãय Ǔनधा[ǐरत करे तो बाजार पर इसका 
Èया Ĥभाव होगा? आरेख सǑहत समझाइए। 

15. Minimum wage laws set a legal lower limit on wages. Analyze their impact on 
employment and labor markets. 

Ûयूनतम वेतन काननू, मजदरूȣ पर कानूनी Ǔनàन सीमा Ǔनधा[ǐरत करता है। इसका 
रोजगार और Įम बाजार पर Èया Ĥभाव पड़ता है? ͪवæलेषण करɅ। 

16. Why do agricultural price support policies often lead to government intervention? 
Discuss with an example. 

कृͪष उ×पादɉ के ͧलए मूãय समथ[न नीǓतयाँ Èयɉ Ĥायः सरकारȣ हèत¢ेप कȧ आवæयकता 
पैदा करती हɇ? एक उदाहरण के साथ चचा[ करɅ। 

17. Explain how subsidies and buffer stock policies help manage the negative impacts of 
price regulations. 
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सिÞसडी और बफर èटॉक नीǓतयाँ मãूय ͪवǓनयमन के नकारा×मक Ĥभावɉ को कैसे 
Ĥबंͬधत कर सकती हɇ? समझाइए। 

18. Price regulations often lead to unintended consequences. Critically evaluate this 
statement with real-world examples. 

मूãय ͪवǓनयमन Ĥायः अनपेͯ¢त पǐरणामɉ को जÛम देता है। इस कथन का वाèतͪवक 
जीवन के उदाहरणɉ के साथ आलोचना×मक मूãयांकन करɅ। 

19. Compare and contrast the effects of maximum and minimum price regulations on 
market efficiency. 

अͬधकतम और Ûयूनतम मूãय ͪवǓनयमन के बाजार द¢ता पर Ĥभावɉ कȧ तुलना करɅ 
और अतंर èपçट करɅ। 

20. How do illegal markets emerge due to price controls? Suggest possible policy 
measures to tackle this issue. 

मूãय Ǔनयंğण के कारण अवैध बाजार कैसे ͪवकͧसत होते हɇ? इस समèया से Ǔनपटने के 
ͧलए संभाͪवत नीǓतगत उपाय सुझाएँ। 

5  Marks Long Answer Questions 

1. Why is a perfectly competitive firm a price taker and not a price maker? Use a 
diagram to support your answer. 

एक पूण[ ĤǓतèपधा[×मक फम[ मूãय Ǔनधा[रक नहȣं बिãक मूãय èवीकारक Èयɉ होती है? 

इसे आरेख कȧ सहायता से समझाइए। 
2. How does an increase in demand affect equilibrium price and quantity in the short 

run? Explain with a diagram. 

जब मांग बढ़ती है, तो अãपकाल मɅ संतुलन मूãय और माğा पर Èया Ĥभाव पड़ता है? 

आरेख सǑहत समझाइए। 
3. What happens to equilibrium price and quantity if production costs decrease due to 

improved technology? Explain using a diagram. 

यǑद Ĥौɮयोͬगकȧ मɅ सुधार के कारण उ×पादन लागत घट जाती है, तो सतंलुन मूãय और 
माğा पर Èया Ĥभाव पड़गेा? आरेख सǑहत समझाइए। 

4. If firms are earning abnormal profits in the short run, what will happen in the long 
run? Justify your answer. 

यǑद अãपकाल मɅ फमɟ को असामाÛय लाभ हो रहा है, तो दȣघ[काल मɅ Èया होगा? अपने 
उƣर को पुिçट कȧिजए। 

5. How do the entry and exit of firms impact market supply? Explain. 

फमɟ के Ĥवेश और बǑहग[मन का बाजार आपूǓत [ पर Èया Ĥभाव पड़ता है? समझाइए। 
6. If a natural disaster reduces supply, how will it affect equilibrium price and 

quantity? Illustrate using a diagram. 
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यǑद ͩकसी ĤाकृǓतक आपदा के कारण आपूǓत [ घट जाती है, तो सतंुलन मूãय और माğा 
पर Èया Ĥभाव पड़गेा? आरेख सǑहत समझाइए। 

7. In the short run, a perfectly competitive firm may continue to operate even at a loss. 
Justify this statement with an appropriate diagram. 

अãपकाल मɅ, एक पूण[ ĤǓतèपधा[×मक फम[ हाǓन मɅ भी संचालन जारȣ रख सकती है। इस 
कथन को उपयुÈत आरेख के साथ सहȣ ठहराइए। 

8. How does the imposition of an indirect tax impact price and output in the short 
run? 

एक अĤ×य¢ कर लगाए जाने से अãपकाल मɅ मूãय और उ×पादन पर Èया Ĥभाव पड़ता 
है? 

9. What will be the impact of an increase in wages on equilibrium price and output? 

यǑद Įͧमकɉ के वेतन मɅ वɮृͬध होती है, तो सतंुलन मूãय और उ×पादन पर Èया Ĥभाव 
पड़गेा? 

10. Can a perfectly competitive firm influence the price of a product? Explain with a 
suitable example. 

Èया एक पूण[ ĤǓतèपधा[×मक फम[ ͩकसी उ×पाद के मूãय को Ĥभाͪवत कर सकती है? एक 
उपयुÈत उदाहरण के साथ समझाइए। 

11. If consumer preferences shift in favor of electric cars, how will equilibrium price 
and quantity be affected in the short run? 

यǑद उपभोÈता कȧ पसंद इलेिÈĚक कारɉ कȧ ओर ͧशÝट हो जाती है, तो अãपकाल मɅ 
संतुलन मूãय और माğा पर Èया Ĥभाव पड़गेा? 

12. How does a restriction on the import of raw materials impact the equilibrium price 
and quantity of a product? 

यǑद कÍचे माल के आयात पर ĤǓतबंध लगाया जाता है, तो यह ͩकसी उ×पाद के संतुलन 
मूãय और माğा को कैसे Ĥभाͪवत करेगा? 

13. What happens to equilibrium price and quantity when both demand and supply 
increase simultaneously? 

यǑद मांग और आपूǓत [ दोनɉ एक साथ बढ़ते हɇ, तो सतंुलन मूãय और माğा पर Èया 
Ĥभाव पड़गेा? 

14. How does a government subsidy on agricultural products affect market equilibrium 
in the short run? 

कृͪष उ×पादɉ पर सरकारȣ सिÞसडी का अãपकाल मɅ बाजार संतुलन पर Èया Ĥभाव 
पड़गेा? 

15. During festivals, the demand for sweets increases. How does this impact equilibrium 
price and quantity, assuming supply remains constant? 
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×योहारɉ के दौरान ͧमठाइयɉ कȧ मांग बढ़ जाती है। यǑद आपूǓत [ िèथर रहे, तो इसका 
संतुलन मूãय और माğा पर Èया Ĥभाव पड़गेा? 

16. What happens when the government sets a maximum price for onions below the 
equilibrium price? Analyze its impact on consumers and producers. 

जब सरकार Üयाज का अͬधकतम मूãय संतुलन मूãय से नीचे तय कर देती है, तो इसका 
उपभोÈताओं और उ×पादकɉ पर Èया Ĥभाव पड़गेा? 

17. If the government sets a minimum wage above the equilibrium wage, what will be 
its impact on employment and the labor market? 

यǑद सरकार संतुलन मजदरूȣ से अͬधक Ûयूनतम मजदरूȣ Ǔनधा[ǐरत करती है, तो इसका 
रोजगार और Įम बाजार पर Èया Ĥभाव पड़गेा? 

18. How does a price ceiling lead to problems like black marketing and hoarding? 
Explain with examples. 

अͬधकतम मूãय सीमा (Price Ceiling) काला बाजार और जमाखोरȣ जैसी समèयाओं को 
कैसे जÛम देती है? उदाहरण सǑहत समझाइए। 

19. Discuss the consequences of imposing a price floor in the agricultural sector with 
real-life examples. 

कृͪष ¢ेğ मɅ Ûयूनतम मूãय सीमा  लागू करने के पǐरणामɉ पर, वाèतͪवक जीवन के 
उदाहरणɉ के साथ चचा[ कȧिजए । 

20. The government imposes a price ceiling on essential medicines to make them 
affordable. Evaluate its impact on the pharmaceutical market. 

सरकार आवæयक दवाओं पर मूãय सीमा लागू करती है ताͩक वे सèती रहɅ। इसका 
औषͬध बाजार पर Èया Ĥभाव पड़गेा? 

 

Case Study 1:  

In a small town, there are many bakeries that sell similar types of bread. Due to the presence of 
multiple sellers and buyers, no single bakery can influence the price of bread. The government 
recently imposed a tax on flour, which is a key input for making bread. As a result, the cost of 
production increased, leading to a shift in supply. Meanwhile, due to an increase in population in 
the town, the demand for bread also increased. 

एक छोटे से कèबे मɅ कई बेकरȣ हɇ जो समान Ĥकार कȧ Ħेड बेचती हɇ। कई ͪवĐेताओं और 
खरȣदारɉ कȧ उपिèथǓत के कारण, कोई भी एकल बेकरȣ Ħेड कȧ कȧमत को Ĥभाͪवत नहȣं कर 
सकती। हाल हȣ मɅ सरकार ने आटे पर कर लगाया, जो Ħेड बनाने का एक Ĥमुख घटक है। इसके 
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पǐरणामèवǾप उ×पादन लागत बढ़ गई, िजसस ेआपूǓत [ मɅ बदलाव आया। इस बीच, कèबे मɅ 
जनसंÉया बढ़ने के कारण Ħेड कȧ मांग भी बढ़ गई। 

 Questions: 

1. (1 mark) What is the primary characteristic of a perfectly competitive market that 
prevents any single seller from influencing the price? 

पूण[ ĤǓतèपधा[×मक बाजार कȧ वह Ĥमुख ͪवशषेता Èया है जो ͩकसी भी एकल ͪवĐेता को 
कȧमत Ĥभाͪवत करने से रोकती है? 

2. (1 mark) How would an increase in production costs due to the tax affect the supply of 
bread in the short run? 

कर के कारण उ×पादन लागत बढ़ने से अãपकाल मɅ Ħेड कȧ आपूǓत [ पर Èया Ĥभाव 
पड़गेा? 

3. (2 marks) Explain the likely impact on the equilibrium price and quantity of bread when 
both supply decreases and demand increases simultaneously. 

जब एक साथ आपूǓत [ घटती है और मांग बढ़ती है, तो Ħेड के संतुलन मूãय और माğा 
पर संभाͪवत Ĥभाव कȧ åयाÉया करɅ। 

 

Case Study 2:  

The government of a country imposes a maximum price (price ceiling) on essential medicines to 
ensure affordability for all consumers. However, due to this regulation, many pharmaceutical 
companies find it unprofitable to produce these medicines, leading to shortages. On the other 
hand, the government has also set a minimum price (price floor) for wheat to protect farmers 
from falling incomes. This intervention results in surplus production as the price set by the 
government is higher than the equilibrium price. 

ͩकसी देश कȧ सरकार आवæयक दवाओं पर अͬधकतम मूãय सीमा Ǔनधा[ǐरत करती है ताͩक 
सभी उपभोÈताओं के ͧलए इसे सुलभ बनाया जा सके। हालाँͩक, इस ͪवǓनयमन के कारण, कई 
औषͬध कंपǓनयɉ को इन दवाओं का उ×पादन अलाभकारȣ लगता है, िजसस ेदवाओं कȧ कमी हो 
जाती है। दसूरȣ ओर, सरकार ने ͩकसानɉ कȧ आय को ͬगरने स ेबचाने के ͧलए गेहंू के ͧलए 
Ûयूनतम मूãय (मूãय Ûयूनतम) भी Ǔनधा[ǐरत ͩकया है। इस हèत¢ेप के पǐरणामèवǾप अͬधशषे 
उ×पादन होता है Èयɉͩक सरकार ɮवारा Ǔनधा[ǐरत मूãय संतुलन मूãय से अͬधक होता है। 

Questions: 
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1. (1 mark) Why does a price ceiling often lead to shortages in the market? 

मूãय सीमा के कारण Ĥायः बाजार मɅ कमी Èयɉ होती है? 
2. (1 mark) How does a price floor impact the quantity supplied of a product? 

Ûयूनतम मूãय सीमा ͩकसी उ×पाद कȧ आपूǓत [ कȧ माğा को कैसे Ĥभाͪवत करता है? 
3. (2 marks) Discuss the economic consequences of both price ceilings and price floors on 

consumers and producers. 

उपभोÈताओं और उ×पादकɉ पर अͬधकतम मूãय सीमा और Ûयूनतम मूãय सीमा दोनɉ 
के आͬथ[क Ĥभावɉ पर चचा[ करे 


